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VæüÐèþ$°Mæü  : D {ç³Ôèý² ç³{†MæüÌZ 7 Ñ¿êVæüÐèþ$$Ë$ E¯é²Æÿ$$.
Note : This question paper contains seven sections.

$uÛ≤>∑+ - I / SECTION - I

(e÷s¡Tÿ\T : 24) / (Marks : 24)

uÛ≤>∑+ - I / PART - I

>∑eTìø£ : (i) nìï Á|üX̄ï\≈£î düe÷<Ûëq+ Çe«+&ç. 14x1=14

(ii) ~>∑Te Ç∫Ãq Hê\T>∑T ◊∫Ã¤ø±\ qT+∫ dü¬s’q <ëìì m+#·Tø√+&ç eT]j·TT Ä|ü¸Hé
ø√&éqT eT]j·TT dü+ã+~Û‘· düe÷<ÛëHêìï sêj·T+&ç.

Note : (i) Answer all the questions.

(ii) Choose the most suitable answer from the given four alternatives and write
the option code and the corresponding answer.
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1. Áô|ò+#Y ‘·÷s¡TŒ Ç+&çj·÷ dü+|òüT+ Ç‘·ì#˚ kÕú|æ+#·ã&ÓqT :

(a) \÷sTTdt XIV (b) ø±\“s¡Tº (c) \÷sTTdt XVI (d) B Áu≤kÕ
The French East India Company was established by :

(a) Louis XIV (b) Colbert (c) Louis XVI (d) De Brazza

2. ÄÁdæºj·÷ j·TTesêE :

(a) ÁbòÕì‡dt ô|ò]¶Hê+&é (b) ÁbòÕì‡dt &É÷´ø̆

(c) ÁbòÕì‡dt &ç …̋ôd|t‡ (d) ÁbòÕì‡dt u…ø±Hé
Austrian crown prince was :

(a) Francis Ferdinand (b) Francis Duke

(c) Francis de Lesseps (d) Francis Baycon

3. kÕ<Ûës¡D ùde\ C≤_‘ê #·≥ºeTT (»qs¡˝Ÿ düØ«ôddt mHé*dtºyÓT+{Ÿ j·÷ø˘º) á dü+e‘·‡s¡+˝À
neT\T|üs¡Ãã&ç+~  :
(a) 1856 (b) 1857 (c) 1858 (d) 1859

General Services Enlistment Act was passed in :

(a) 1856 (b) 1857 (c) 1858 (d) 1859

4. uÛ≤s¡‘· yÓTT<ä{Ï sêÁwüº|ü‹ :

(a) &Ü. sêCÒ+Á<ä Á|ükÕ<é (b) >±+BÛJ

(c) &Ü. sê<Ûëø£èwüíHé (d) dü‘·´eT÷]Ô
First President of India :

(a) Dr. Rajendra Prasad (b) Gandhiji

(c) Dr. Radhakrishnan (d) Sathyamurthi

5. kÕsYÿ jÓTTø£ÿ yÓTT<ä{Ï ôdÁø£≥Ø »qs¡̋ Ÿ :

(a) õHêï (b) nãT˝Ÿ ncÕHé

(c) ø√|òæ nqïHé (d) >±+BÛJ
The First Secretary General of SAARC was :

(a) Jinnah (b) Abul Ahsan

(c) Kofi Annan (d) Gandhiji
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6. ‘+̊u≤eDÏ BìøÏ dü+ã+~Û+∫+~ :

(a) Væ≤+<ä÷ eT‘·+ (b) dæ≈£îÿ eT‘·+ (c) Á¬ø’düÔe+ (d) ÇkÕ¢+
Thembavani is related to :

(a) Hinduism (b) Sikhism (c) Christianity (d) Islam

7. $ìjÓ÷>∑<ës¡T\T ÁøÏ+~yê]#̊ yÓ÷dü–+|üã&ÉT#·THêïs¡T :

(a) eÁ&É+– yês¡T (b) e´ekÕj·T<ës¡T\T

(c) <äØ® yês¡T (d) yê´bÕs¡düTú\T
The customers are exploited by the :

(a) Carpenters (b) Farmers

(c) Tailors (d) Traders

8. bÕø̆ »\dü+~Û   __________ qT+&ç uÛ≤s¡‘·<̊XÊìï  ẙs¡T|üs¡T#·TqT.

(a) l\+ø£ (b) eTj·THêàsY

(c) e÷©›e⁄\T (d) \ø£åB«|t
Palk Strait separates India from __________ .

(a) Sri Lanka (b) Myanmar

(c) Maldives (d) Lakshadweep

9. øå±eTeTT˝À ô|s¡T>∑T |ü+≥ __________ .

(a) e] (b) >√<ÛäTeT (c) »qTeTT (d) C§qï\T
The crop that grows in drought is __________ .

(a) rice (b) wheat (c) jute (d) millets

10. KØ<Ó’q eT]j·TT n‹ q÷‘·q  s¡yêD≤ $<Ûëq+  __________ .

(a) yêj·TT s¡yêD≤ (b) s¡Vü≤<ë] s¡yêD≤

(c) »\ s¡yêD≤ (d) ¬s’\T s¡yêD≤
The costliest and most modern means of transport is __________ .

(a) Air Transport (b) Road Transport

(c) Water Transport (d) Rail Transport
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11. >∑>∑q‘·\+ qT+&ç rj·TT #Ûêj·÷∫Á‘·eTT\qT|üjÓ÷–+∫ ∫Árø£]+#·ã&ÉT |ü≥eTT\T __________.
(a) \+ã|ü≥eTT\T (b) yêj·TTeT+&É\ |ü≥eTT\T
(c) HÓ’dü]Zø£ |ü≥eTT\T (d) sê»ø°j·T |ü≥eTT\T

Maps created by using aerial photographs are called __________ Maps.

(a) Ortho - photo (b) Aerial photo

(c) Physical (d) Political

12. <̊X̄eTT jÓTTø£ÿ C≤rj·T Ä<ëj·TeTTqT >∑DqeTT #̊j·TT |ü<ä∆‘·T\T  :
(a) 2  |ü<ä∆‘·T\T (b) 3  |ü<ä∆‘·T\T (c) 4  |ü<ä∆‘·T\T (d) 5  |ü<ä∆‘·T\T

National Income of a country can be calculated by :

(a) 2 Methods (b) 3 Methods (c) 4 Methods (d) 5 Methods

13. uÛ≤s¡‘·<˚X¯ Á|üD≤[ø£ dü+|òüT+ #Ó’s¡àHé :
(a) uÛ≤s¡‘· sêÁwüº|ü‹ (b) uÛ≤s¡‘· Á|ü<Ûëq eT+Á‹
(c) uÛ≤s¡‘·<˚X̄ Ä]úø£ XÊK eT+Á‹ (d) uÛ≤s¡‘· ñ|üsêÁwüº|ü‹

Chairman of Planning Commission of India is :

(a) President of India (b) Prime Minister of India

(c) Finance Minister of India (d) Vice President of India

14. Vü≤]‘· $|ü¢e+ á dü+e‘·‡s¡+˝À Á|üẙX̄ô|≥ºã&çq~ :
(a) 1967 (b) 1977 (c) 1987 (d) 1957

Green Revolution was introduced in the year :

(a) 1967 (b) 1977 (c) 1987 (d) 1957
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uÛ≤>∑+ - II  / PART - II

>∑eTìø£ : ¬s+&ÉT Á|üX̄ï\≈£L düe÷<Ûëq+ Çe«+&ç : 2x5=10

Note : Answer both the questions :

15. ~>∑Te yê{Ïì »‘·|üs¡Ã+&ç :
Match the following :

(i) (a) q\¢ #=ø±ÿ\T - {Ï.m+. Hêj·TsY
(b) q÷´j·÷sYÿ - eTTk˛‡*˙ nqT#·s¡T\T
(c) Væ≤+<ä÷eT‘·eTT e÷]ºHé \÷<∏äsY - Ç.$. sêeTkÕ$T ô|]j·÷sY
(d) »dæºdt bÕØº - ◊.sê.dü. Á|ü<Ûëqπø+Á<ä+
(e) yÓ’ø£ÿ+ Ms¡T&ÉT - kÕ«$T <äj·÷q+<ä düs¡dü«‹

- dü‘·´eT÷]Ô
- eTTdæ¢+ ©>¥

(a) Black Shirts - T.M. Nair

(b) New York - Mussolini’s followers

(c) Martin Luther of Hinduism - E.V. Ramasamy Periyar

(d) Justice Party - Headquarters of the UNO

(e) Vaikam Hero - Swami Dayanandha Saraswathi

- Satyamurti

- Muslim league

(ii) (a) wæ˝≤¢+>¥ |”sƒ¡uÛÑ÷$T - |ü‹Ô
(b) q\¢πs>∑&ç H˚\ - uÛ≤Ø es¡̧bÕ‘·+
(c) ∫‘·Ô&çH˚\\ ns¡D≤´\T - &Ûç©¢
(d) <äøÏåD ¬s’˝Ò« - düT+<äsYãHé‡
(e) s¡ã“s¡T - #ÓHÓ’ï

- πøs¡fi¯
- ˇø£ s¡ø£+ u§>∑TZ

(a) Shillong Plateau - Cotton

(b) Black Soil - Heavy rainfall

(c) Mangrove forests - Delhi

(d) Southern Railways - Sunderbans

(e) Rubber - Chennai

- Kerala

- A type of coal



66838

$uÛ≤>∑+ - II / SECTION - II

(e÷s¡Tÿ\T : 20) / (Marks : 20)

>∑eTìø£ : (i) ~>∑Te yê{Ï̋ À @ẙì |ü~+{ÏøÏ ≈£î¢|üÔ+>± düe÷<Ûëq+ Çe«+&ç. 10x2=20

(ii) uÛ≤>∑+ - I qT+∫ Hê\T>∑T, uÛ≤>∑+ - II qT+∫ ˇø£{Ï, uÛ≤>∑+ - III qT+∫ Hê\T>∑T eT]j·TT
uÛ≤>∑+ - IV qT+∫ ˇø£{Ï m+#·Tø√+&ç.

Note : (i) Answer any ten of the following questions in brief.

(ii) Choose four from PART - I, one from PART - II, four from PART - III and
one from PART - IV.

uÛ≤>∑+ - I  / PART - I

16. kÕÁe÷CÀ´<ä´eTeTTqT ìs¡«∫+|ü⁄eTT.
Define Imperialism.

17. HêHêC≤‹ dü$T‹ jÓTTø£ÿ $$<Ûä n+>∑eTT Ò̋$ ?
What are the Organs of the League of Nations ?

18. “bòÕdæ»+” n+fÒ @$T{Ï ?
What does the term “Fascism” mean ?

19. uÛÑ÷$Tì <äVæ≤+#·T dæ<ë∆+‘·eTTô|’ ˇø£ yê´K´qT Áyêj·TTeTT.
Write a note on the Scorched Earth Policy.

20. ô|]j·÷sYqT yÓ’ø£ÿ+ Ms¡T&ÉT nì m+<äT≈£î |æ*∫] ?
Why do we call Periyar as Vaikam Hero ?

21. >=|üŒ ‹s¡T>∑Tu≤≥T jÓTTø£ÿ eTTK´ Hêj·T≈£î\T eT]j·TT πø+Á<ë\qT ‘Ó\TŒeTT.
Name the important leaders and centres of the Great revolt.

22. e\¢˝≤sY  jÓTTø£ÿ uÀ<Ûäq\Ò$ ?
What are the teachings of Vallalar ?

23. düTÁãVü≤àD´ uÛ≤s¡rj·÷sY jÓTTø£ÿ ¬s+&ÉT |ü<ä́ eTT\qT ‘Ó*j·TCÒj·T+&ç.
Mention any two poems of Subramania Bharathiar.
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uÛ≤>∑+ - II  / PART - II

24. Á|ü|ü+#· XÊ+‹ ˇø£ ÄeX̄´ø£yÓTÆq n+X̄eTT m+<äT≈£î ?
Why is world peace an essential one ?

25. uÛ≤s¡‘·<̊X̄+˝Àì ø=ìï eT‘·eTT\qT ‘Ó\TŒeTT.
Name some of the religions of India.

uÛ≤>∑+ - III  / PART - III

26. uÛ≤s¡‘·<˚X̄+˝Àì ñ‘·Ôsês¡ú |üs¡«‘·eTT˝À >∑\ Á|üdæ~∆ #Ó+~q ø=ìï |ü⁄D´πøåÁ‘·eTT\qT ‘Ó\TŒeTT.
Name a few well - known holy places in the Northern Mountains of India.

27. uÛ≤s¡‘·<˚X̄ o‘√wüídæú‹ì ìs¡ísTT+#·T n+X̄eTT\qT ‘Ó\T|ü⁄eTT.
Name the factors determining the climate of India.

28. düVü≤» eqs¡T |ü<äeTT >∑÷]Ã ˙ ne>±Vü≤q @$T  ?
What do you understand by the term natural resource ?

29. ‘√≥ |ü+≥\T nq>±H̊$T ?
What are Plantation Crops ?

30. »qTeTT |ü]ÁX¯eT ñ‘·Œ‘·TÔ˝Ò$ ?
What are the by-products of Jute Industry ?

31. Ç`e´sêú\T (m\Áø±ºìø̆ e´s¡ú|ü<ës¡úeTT\T) n+fÒ @$T{Ï ?
What is meant by e - waste ?

32. ô|’|t̋ …’Hé s¡yêD≤ jÓTTø£ÿ >∑TD≤\qT ‘Ó*j·TCÒj·T+&ç.
State the merits of pipeline transport.

33. ]yÓ÷{Ÿ ôdì‡+>¥ n+fÒ @$T{Ï ?
What is meant by remote sensing ?
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uÛ≤>∑+ - IV  / PART - IV

34. ùd«#êÃ¤ $<Ûëq+ (Laissez-faire) nq>±H̊$T ?
What is Laissez-faire ?

35. $TÁX̄eT Ä]úø£ $<Ûëq+ n+fÒ @$T{Ï ?
What is Mixed Economy ?

$uÛ≤>∑+ - III / SECTION - III

(e÷s¡Tÿ\T : 8) / (Marks : 8)

>∑eTìø£ : ~>∑Te yê{Ï̋ À @ẙì Hê\T–+{Ï eT<Ûä´ ‘˚&Ü\T ‘Ó*j·TCÒj·T+&ç : 4x2=8

Note : Distinguish between any four of the following :

36. Jm+{° eT]j·TT ◊mdt{°.
GMT and IST.

37. |ü⁄qs¡T‘·Œ‹Ô eT]j·TT |ü⁄qs¡T‘·Œ‹Ô s¡Væ≤‘· eqs¡T\T.
Renewable resource and Non renewable resource.

38. yêDÏ»´ eT]j·TT JeHê<Ûës¡ e´ekÕj·T+.
Commercial and Subsistance agriculture.

39. ÇqTeTT, ñ≈£îÿ |ü]ÁX̄eT eT]j·TT kÕ|òtºẙsY |ü]ÁX̄eT.
Iron and Steel Industry and Software Industry.

40. yêj·TT ø±\Twǘ + eT]j·TT X̄ã› ø±\Twǘ +.
Air Pollution and Noise Pollution.

41. dü«<̊o yêDÏ»´+ eT]j·TT n+‘·sê®rj·T yêDÏ»´+.
Internal trade and International trade.

42. s√&ÉT¶ e÷sêZ\T eT]j·TT ¬s’\T e÷sêZ\T.
Roadways and Railways.

43. \÷ eT]j·TT HêsYyÓdüºs¡T¢ .
Loo and Norwesters.
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$uÛ≤>∑+ - IV / SECTION - IV

(e÷s¡Tÿ\T : 8) / (Marks : 8)

>∑eTìø£ : ~>∑Te yê{Ï̋ À @yT̊ì ¬s+&ç+{Ïì m+#·Tø√+&ç eT]j·TT Á|ür o]¸ø£q Ç∫Ãq nìï Á|üX̄ï\≈£î
düe÷<Ûëq+ Çe«+&ç.

Note : Choose any two of the following and answer all the questions given under each
caption.

44. bÕ¢d” eT]j·TT ãø±‡s¡T j·TT<ä∆eTT :

(a)  1757 ˝À u…+>±˝Ÿ qyêãT mes¡T ?

(b) ôd’q´ düVü≤ø±s¡ |ü<ä∆‹ì mes¡T Á|üẙX̄ô|{Ïº] ?

(c) &É̋ ÖΩdæ Á|üuÛÑTe⁄ jÓTTø£ÿ dæ<ë∆+‘·eTT ù|πs$T ?

(d) $ø√º]j·÷ eTVü‰sêDÏ Á|üø£≥q m|ü⁄Œ&ÉT yÓ\Te&ÓqT ?
Battle of Plassey and Buxar :

(a) Who was the Nawab of Bengal in 1757 ?

(b) Who introduced the Subsidiary Alliance ?

(c) Name the policy of Lord Dalhousie.

(d) When was Queen Victoria’s Proclamation issued ?

45. n&Ü˝ŸŒ¤ Væ≤≥¢sY :

(a) n&Ü˝ŸŒ¤ Væ≤≥¢sY m#·Ã≥ »ìà+#ÓqT ?

(b) Ç‘·ì ‘·+Á&ç eè‹Ô @$T ?

(c) Ç‘·qT @sêŒ≥T #̊dæq dü+düú ù|πs$T ?

(d)  Væ≤≥¢sY s¡∫+∫q |ü⁄düÔø£+ ù|s¡T @$T{Ï ?
Adolf Hitler :

(a) Where was Adolf Hitler born ?

(b) What was his father ?

(c) What did he organize ?

(d) Name the book written by Hitler.

2x4=8



106838

46. sêeTø£èwüí $TwüHé :

(a) sêeTø£èwüí |üs¡eTVü≤+dü mes¡T ?

(b) sêeTø£èwüí $TwüHé kÕú|æ+∫q<Óes¡T ?

(c) Á|ü|ü+#· eT‘· eTVü‰düuÛÑ m#·Ã≥, m|ü⁄Œ&ÉT »]¬>qT ?

(d) Á|ü|ü+#· eT‘· eTVü‰düuÛÑ̋ À Væ≤+<ä÷ eT‘·eTT jÓTTø£ÿ Á|ü‹ì~Û>± mes¡T bÕ˝§Zì] ?

Ramakrishna Mission :

(a) Who was Ramakrishna Paramahamsa ?

(b) Who founded the Ramakrishna Mission ?

(c) When and where was the Parliament of Religions held ?

(d) Who represented the Hindu religion at the Parliament of Religions ?

47. »*j·THé yê˝≤u≤>¥ e÷s¡Dø±+&É :

(a) U…’<äT #̊j·Tã&çq eTTK´yÓTÆq Hêj·T≈£î …̋es¡T ?

(b) Á|ü»\T m#·Ã≥ düe÷y˚X̄yÓTÆ] ?

(c) neTè‘YdüsY jÓTTø£ÿ Ä+>∑¢ ôd’ìø±~Ûø±] mes¡T ?

(d) s¡M+Á<äHê<∏é sƒê>∑÷sY @$T #̊ôdqT ?

Jallian Wala Bagh Tragedy :

(a) Who were the prominent leaders arrested ?

(b) Where did the people gather ?

(c) Who was the British Military Commander of Amritsar ?

(d) What did Rabindranath Tagore do ?
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$uÛ≤>∑+ - V / SECTION - V

(e÷s¡Tÿ\T : 20) / (Marks : 20)

>∑eTìø£ : Á|ür Á|üX̄ï qT+∫ ˇø£ ◊∫Ã¤ø±ìï m+#·Tø√e&É+ <ë«sê nìï Hê\T>∑T Á|üX̄ï\≈£L düe÷<Ûëq+
Çe«+&ç.

Note : Answer all the four questions by selecting one option from each question.

uÛ≤>∑+ - I / PART - I

48. (a) ÁbòÕ+øÏ¢Hé &ç. s¡÷CŸyÓ̋ Ÿº#̊ Á|üẙX̄ô|≥ºã&çq ñ|üX̄eTq, |ü⁄q: ÁbÕ|æÔ eT]j·TT dü+düÿs¡D\qT >∑÷]Ã
Áyêj·TTeTT.

Ò̋<ë

(b)  1857 >=|üŒ ‹s¡T>∑Tu≤≥T jÓTTø£ÿ |ü]bÕ\Hê eT]j·TT ôd’ìø£ ø±s¡DeTT\qT ‘Ó\TŒeTT.

Ò̋<ë

(c) »d”ºdt bÕØº jÓTTø£ÿ kÕú|üq eT]j·TT kÕ<Ûäq\qT >∑÷]Ã ˇø£ yê´K´qT Áyêj·TTeTT.

(a) Write a paragraph about Relief, Recovery and Reforms introduced by
 Franklin D.  Roosevelt.

OR

(b) What were the Administrative and Military causes of the Great Revolt
of 1857 ?

OR

(c) Write a Paragraph on the formation and achievements of the Justice Party.

4x5=20
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uÛ≤>∑+ - II / PART - II

49. (a) |ü+#·o\ dæ<ë∆+‘·eTT eT]j·TT n©q $<ÛëqeTTqT >∑÷]Ã dü+øÏå|üÔ düe÷<ÛëHêìï Áyêj·TTeTT.

Ò̋<ë

(b) mìïø£\ s¡ø£eTT\qT ‘Ó*|æ eT]j·TT yê{Ïì >∑÷]Ã $e]+|ü⁄eTT.

Ò̋<ë

(c) $ìjÓ÷>∑<ës¡T\qT s¡øÏå+#·T≥¬ø’ ‘·$TfīHê&ÉT Á|üuÛÑT‘·«eTT #̊|ü{Ïºq #·s¡́ \qT $e]+#·TeTT.

(a) Write a paragraph about Panchasheel and the Policy of Non-Alignment.

OR

(b) Mention the types of election and explain them.

OR

(c) What are the measures taken by the Government of Tamil Nadu to Protect the
Consumers ?

uÛ≤>∑+ - III / PART - III

50. (a) Væ≤e÷\j·TeTT\ |ü⁄≥Tºø£qT >∑÷]Ã $e]+|ü⁄eTT.

Ò̋<ë

(b) ÄeT¢ es¡̧+ jÓTTø£ÿ Á|üuÛ≤eeTT Ò̋$ ?

Ò̋<ë

(c) $|ü‘·TÔ nbÕj·T ‘·s¡T>∑T<ä\ jÓTTø£ÿ dü«düú‘· kÕúq+ >∑÷]Ã ˙ẙ$T ns¡ú+ #̊düTø=+<äTe⁄ ?

(a) Explain the origin of the Himalayas.

OR

(b) What are the effects of acid rain ?

OR

(c) What do you understand from the term ‘Recovery Stage of Disaster Risk
Reduction’ ?
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uÛ≤>∑+ - IV / PART - IV

51. (a) C≤rj·T Ä<ëj·T eT~+|ü⁄ |ü<ä∆‘·T\qT $e]+|ü⁄eTT.

Ò̋<ë

(b) |ü<äø=+&Ée |ü+#·es¡̧  Á|üD≤[ø£ jÓTTø£ÿ ñ<̊›X̄´eTT\ >∑T]+∫ Áyêj·TTeTT.

Ò̋<ë

(c) ‘·$TfīHê&ÉT˝À >∑\ $$<Ûä $<äT´#·Ã¤øÏÔ Á|üD≤[ø£\qT $e]+|ü⁄eTT.

(a) Explain the methods of calculating National Income.

OR

(b) Write down the objectives of Eleventh Five Year Plan.

OR

(c) Explain the various Power Programs in Tamil Nadu.

>∑eTìø£ : |ü≥+ eT]j·TT ø±\πsK #êsYº≈£î dü+ã+~Û+∫ n+<Ûä $<ë´s¡Tú\T yê´K´ e÷Á‘·ẙT Áyêj·Te#·TÃ.

Note : Blind Candidates may write only notes for the questions related to map and
timeline chart.

$uÛ≤>∑+ - VI / SECTION - VI

(e÷s¡Tÿ\T : 5) / (Marks : 5)

>∑eTìø£ : ~>∑Te yê{Ïô|’ ø±\πsKqT ^j·T+&ç :

Note : Draw a time line on the following :

52. 1920 - 1950 eT<Ûä́ ø±\+˝À #√≥T #̊düT≈£îqï @ẙì ◊<äT eTTK´yÓTÆq uÛ≤s¡rj·T dü+|òüT≥q\T 5

Any five important Indian events between the years 1920 - 1950.
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$uÛ≤>∑+ - VII / SECTION - VII

(e÷s¡Tÿ\T : 15) / (Marks : 15)

>∑eTìø£ : |ü≥+ Á|üX̄ï\T :
Note : Map questions :

53. (a) MT≈£î Ç∫Ãq Ädæj·÷ ne⁄{Ÿ …̋’Hé |ü≥+˝À ~>∑Te ù|s=ÿqï ÁbÕ+‘ê\qT >∑T]Ô+#·+&ç. 5

(i) ô|øÏ+>¥
(ii) Vü‰+ø±+>¥
(iii) ø=]j·÷

(iv) »bÕHé
(v) mÁs¡ düeTTÁ<ä+

Ò̋<ë

(b) uÛ≤s¡‘·<̊X̄ ne⁄{Ÿ …̋’Hé |ü≥+˝À ~>∑Te ÁbÕ+‘ê\qT >∑T]Ô+#·+&ç.
(i) MTs¡{Ÿ
(ii) ø±q÷ŒsY

(iii) #ÓHÓ’ï
(iv) u≤s¡ø̆|üPsY
(v) \ø√ï

(a) Mark the following places in the given outline map of Asia.

(i) Peking

(ii) Hongkong

(iii) Korea

(iv) Japan

(v) Red Sea

OR

(b) Mark the following places in the given outline map of India.

(i) Meerut

(ii) Kanpur

(iii) Chennai

(iv) Barrackpore

(v) Lucknow
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54. uÛ≤s¡‘·<˚X̄ ne⁄{Ÿ˝…’Hé |ü≥+˝À @yì̊ |ü~ düú˝≤\T / ÁbÕ+‘ê\qT >∑T]Ô+#·+&ç. 10

(i) Äsêe[ ÁX‚DÏ
(ii) bÕø̆ »\dü+~Û
(iii) \ø£åB«|t
(iv) |ü‹Ô |ü+&ç+#̊ ÁbÕ+‘·+
(v) eTÚ+{Ÿ me¬sdtº
(vi) qs¡à<ë q~
(vii) ˇ+&É* eTqTï
(viii) ø√˝Ÿø£‘ê
(ix) ø£#Y dæ+<ÛäT XÊK
(x) |üs¡«‘ês¡D´eTT
(xi) u…+>∑fīSs¡T
(xii) <äø£ÿHé |”sƒ¡uÛÑ÷$T
(xiii) #ÓHÓ’ï eT]j·TT ø√˝Ÿø£‘êqT ¬s’\T e÷s¡Z+˝À ø£\|ü+&ç
(xiv) >∑+>± yÓTÆ<ëq+
(xv)  50 ôd+.MT.ø£+fÒ ‘·≈£îÿe es¡̧bÕ‘·+ bı+<̊ ÁbÕ+‘ê\qT >∑T]Ô+#·+&ç
Mark any ten places/regions on the given outline map of India.

(i) Aravalli Range

(ii) Palk Strait

(iii) Lakshadweep

(iv) Cotton Growing area

(v) Mount Everest

(vi) River Narmada

(vii) Alluvial Soil

(viii) Kolkata

(ix) Gulf of Kutch

(x) Mountain Forest

(xi) Bengaluru

(xii) Deccan Plateau

(xiii) Link Chennai and Kolkata by rail route

(xiv) Ganga Plain

(xv) Show the areas receiving less than 50 cm of rainfall
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